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3362t740 Utirnnhruhtr 5dq q3 flhutn 900 9 8100

3362ntA Urnb0nrnL 50dq ql 4/hum 100 4,05 405

33621760 khurrruunhr Silq cIl ry'hum 3600 5,25 18900

33611190 Ub0nqhn0bn Ca 13,5dq ql r/hum 100 12,88 12BB

33621110 .lurp$uplro Oumpf Silq ql flhutn 100 32,9 3290

33621110 .tnrp$rupfr0 Oumpfi 2.5ilq q1 4/huun 300 8,47 254',1

33621620 Uq[pn0n1ulunn0 25dq cll 4/hum 600 35 21000

33621380 r}fiqopuft6 0,25rlq ql 4/hutn 200 6,1 1220

33631310 r)lr!1n$b0ru! fiumpftntd 1 % 3oqn g3 r/huu 5 158,4 792

33631310 rlhtlLn$b[ruU 50dq cIl n/hum 100 14,64 1464

33631310 thllLn$bOruU nbmurp4 1 00dq ql dhuLn 100 57,68 5768

33631310 'lhULn$b0urll 25dq/dL 3 q1 rrrlLrl 15 78,4 1176

33691 231
t-rurEfrmrilr \urppnhuur, {rtnuril}rtr D3

500/200
cll flhuLn 300 37,78 11334

33631300 trhtnnulpn$hh l00dq qi n/hum 150 73,92 1 1088

33621690 9urprlh4fr1nl 25tlq gl ry'huu 150 35,9 5385

33621690 trurprlhalrlnl 12,5dq ql r/hum 300 32 9600

33621690 qrunrlhrlhrnr 6,25dq ql dhutn 150 25,2 3780

3362L390 Udfiur4upnfi 200dq q1 4/hum 300 63,8 19140

3362t420 Uurnnd ururnruurhh l Oriq c[1 4/hum 120 29,2 3504

3362L420 Uurnnrl urutnunnhtr 2 Or.tq qi dhuut 600 33,99 20394

33621420 Urnnnrl ururnurtnlrh 40dq q1 4/hum 150 74,99 11248,5

33667121 Ug bLn [1uur th g h Ltu-ppn L 1 00dq ql 4/hum 1800 18,99 34182

3362t720 Flrunulpnlnl 5ilq q1 r/huu 450 B,B 3960

33621720 Ffumrlpnlnr 1Odq cll n/hum 180 24,6 4428

33642230 Llmnhnopuhh hurtnnhmrl 1 OOtJhq cll n/huLn 700 15,52 10864

33611160 Uhurnbrnulnunih+ 5riq /tft 2tit ql unll 10 53,84 538,4

33611100 OilbqnurqnL 20ilq ql ry'hum 300 12,9 3870

33621600 hhnurqunlhn 2,5dq qt 4/hum 30 16,88 506,4

33621600 htrnunuunfhnl ,5dq ql 4/hum 120 47,87 5744,4

33671 1 1 3 Juurnlurunlnr qnnurqhn 1Otlt g1 huru 10 1 000 10000

33651253 Srudopuh$b0 20ilq qt 4/hum 150 69,8 10470

33621"590 bnrpnubil[4 40dq ql n/hum 300 4 1200

33621700 tlhurnqpnlnl 50ilq q1 4/hum 300 23,3 6990

33651112
Uriopufrgb$h, \urfrnr-tfr plunlnr-lurLuru
1.0o"n

q1 ry'hum 20
348 6960

33651116 3h$urqnrhtr 1,Oqp ql 2zul 15 170 2550

33651 1 31 Untl$urrfbpopuurqnl+urFhrihpnqp[d 800/1 60 q1 flhum 20 370,12 7402,4

33651 131 Untr $turfhBopuurqnl +rnnhrihBnul nhri 400/80 q1 n/hum 20 12,2 244



33621730
.lhp urqunffr1 ( rlhpurululifrdr hfrqpnptnntr4)
B0ilq

ql 4/huu 120 26 3120

3362rr40 Qlnq[4nqpb1 75dq qt 4/hum 300 79,9 23970
33621700 Uhurnqpnlnl 25riq qt

LN 600 18 1 0800
336s1125 Uqitfun"{hg}rtr 500ilq ql m t0 402,45 4024.5
33631290 hpnr-rqpn$hh 400tiq ql n 100 21.89 2189
336Lt440 .{}rurunilrtr tr hruilurl }rp ql 20 1 09,1 9 2183.8

33621210
hn11*fuh
um1$urul 1 2,6+$n1hurppnLsilq,+0,01 ilq
rlhu 812

ql 4/hum
90

84,62 7615,8

33621580 1[4pnp1n pf phuqh n 25rlq qt r/huLn 100 11,84 1184
33661.122 'rluprugbmudnl 500rlq ql r/hum 100 5,6 560
33621590 $nrpnubdfr4 lnrdnL;p 4Orlq/dr q1 unq 10 28 280
33651,254 Lbmpnqn12,5 ql 90 635.92 57232 I

B.#n{, . 
"'.%." 
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33627740 Utilnairqfrh Sdq qi 4/hum 1200 I 10800
33621740 Uil1n4|rqfrtr 1Oilq gl 4/hutn 900 32,55 29295
3362L710 Jmb0n1n150dq cll 4/hum 300 4,05 1215
33621760 htruluqplrl 1Odq q1 4/hum 900 8,5 7650
33621760 ttrurlurulpfrl 20dq cll 4/hum 2100 41,"12 86352
33611190 Ub0nq[40bp ql ry'hum 300 9 2700
3362 1 1 10 .trup$nrplr0 0uLnpfr Sdq ql ry'hum 800 32,9 26320
33621110 .trup$nrplr0 0umplr 2.5dq qt 4/hum 300 8,47 2541
33621620 Uq[pn0n1urt4Lnn0 25dq q3 r/huu 1200 35 42000
33621620 Uqfpn0nlu!mn[ 50rlq qi q/huun 300 64 1 9200
336214I0 U frr5{tu umurtn [0 1 0rlq q1 ry'hum 600 0
33621410 Ultdr{uurnrumh0 20rlq gl ry'hum 1800 0
3362t410 Ufriltlruuunum[[ 40dq q? q/hum 450 205,667 92550.1 5
33621380 rlfqopufr0 0,25riq cIl dhum 300 6,1 1 830
33631310 rlhlltn$b0u! OurrnplrnLil 1% 30qn qt ry'hutn 10 158,4 1584
336313L0 rlfr!1n$b0u! 50dq q1 ilhum 210 14,64 3074,4
33631310 rI[ta1n$bOuQ nbmup4 1 00rlq ql ry'hum 210 30,5 6405
33631310 rlfrllln$b0nr! 25dq/d1 3d1 q1 uilul 20 78,4 1 568
33631300 Ubmnqpn$h0 SOrJq/dL 2il1 q1 urdLrl 40 227 9080
33631300 lhtnnqpnghh l00rlq q1 flhum 300 73.92 22176
33631300 Qhrnnr4pn$hh 4n04nr1 2,5o/o 50q, ql hum 5 1790 8950
3362 1690 !up{h4}r1n1 25ilq qi q/hum 450 35,9 16155
33621690 tiurpr{h4fr1n1 12,5dq q1 4/hutn 4200 32 134400
33621690 Qurpdh4]r1n1 6,25dq gl flhun 450 23 10350
33621510 QuqLnnqpfrl25dq q1 4/hum 600 4,5 2700
33621510 Quulmnqp[150dq ql 4/hum 600 12,917 7750,2
33691203 Lnquptnu0 50dq cll flhutn 600 59,286 35571,6
33691203 Lnqupmu0 100dq q1 4/hum 450 83,929 37768,05
3362 L390 Ud[n4tupn0 200rlq ql r/hutn 600 63,8 38280
33661121 Ugbm [1uu lfrg fr 1ur-ppnL 1 00rlq ql 4/hulm 3000 18,99 56970
33621720 tr|runr:1pnp1 2,5dq ql r/huu 900 19,12 17208
3362L720 Plrunqpnlnt sdq ql flhum 2400 I,B 21120
33621720 Plrunqpnlnl 1Orlq q1 4/hum 600 24,6 14760
33621370 l',qnunpplrm h nh 6hrn n urtn-20 cll 4/hum 600 36,6 21960
33642230 Lhnplrpopufrh hunnplrnrrl 1 0Orlllq ql 4/hum 1200 16,2 19440

33661 1 53 rlblluurdbrnuqn0 u!0urluplr1 0,1 % 10d1 ql 22n! 3 570,4 1711,2

33611160 Uhrnnlllnqprurfh+ 5ilq l$ Alt gl un{ 10 53,84 538,4
33611100 Odbrqpuqnl 20dq q1 4/htum 600 12,9 7740
33661 156 Ofriln1n1 5dq/dL 5rir ql ?lnu 5 436,08 2180.4
33671 1 1 3 Uurtpnrururilnr qnnuqhn 1 Orlt ql hunn t0 1000 10000
33651253 SruilopuJr$b0 20dq cll ty'hum 300 69,8 20940



33651253 Snrrlopuh$bfi 1Odq ql 4/hum 150 77,667 11650,05

33691 209 Suilunrrnqh0 4dq ql 4/hum 600 196,33 117798

33621590 bnrnnubdhn 40dq ql flhum 450 4 1 800

33627700 Uhrnnunnrnr 50Uq ql flhum 300 23,3 6990

33651112
Ur.fopufrgbfh, \urfrnr-il|r plurlnqruhrurn
625dq

ql 4/hum 20 156,429 3128,58

33651116 th$uqnrhb 1,Ocn qi 22h\ 20 170 3400

33651118 8h$urnhurpunh l,Oqn q3 2?h\ 20 160 3200

33651 131 Unrl$tutlhpopuruqnl+urpfnfhpnqpfrrf 800/ 1 60 q1 r/hum 30 0

33651 131 Unrr $tuiltnopuurc nr +urnhrihBnru nh{ 400/80 qi n/huum 30 12 360

33651150 bgnLlln0uqnl 150dq ql 4brluqur
mh6 20 179 3580

3362L730
.thpurqulffl (t{hpurulurtff{r hpapnpfnph4)
40rIo

qi 4/hum 180 18,83 3389,4

33621730
.lhpurquril|r1 (tlhpulrluilfrfr hfrapnpfnptll)
80rlo

ql 4/hum 300 26 7800

33627140 Qlnqf4nqpb1 75dq ql 4/huu 1200 79,9 95880

33621700 Uhurnu.tnnlnr 25riq ql ry'huu 21 00 18 37800

33651125 UqhBnntihqhh 500ilq ql r/hum 20 326,667 6533,34

3363L290 hpnturnn$hh 40Otlq q1 ry'hutn 200 21,89 4378

33611440 .lhururilhtr tr hunfurr hn q1 und 10 0

33621210
hn\*ph
unr-1$uln 1 1 2, 6+Snthurfdpnt5dq, +0, 0 1 ilq
rlhur 812

cll ty'htum
180

84,62 15231,6

33621580 lhnnnpr nnhphuqhn 25dq cll ry'htum 300 11,84 3552

336422r0 "lnhn0hqnLnO 
5dq q1 4/hruun 300 8,6 2580

336611,22 'tlupurgbmuilnl 500dq ql r/hum 300 4,95 1485

33621590 $nrpnubdJt4 1nL6nt1p 10dq/d1 2tJ1 ql un{ 20 28 560

33631210 Fbrnurlbtnuqn0 punrp 15qp 1dq/q ql hum 6 1000 6000

5 303 100 U[Qn0uqn1 fipprupunrp 1 5q, 20dq/q ql hum 6 378,9 2273,4

3365 148 Qlnmpftiluqn1 lpbd 15q ,1Odq/q ql hum 6 220 1320

3367 116 Puflndbmuqnlfi0 1 dq/d1 1 0d1 q1 22htj 5 417,6 2OBB

3365 t34 3fiqpn$lopuurgfrl rut{[-t{ 3dq/ilt 1 0dL cli hLuLn 10 640 6400

3365 r29 QltupIppnd[gh0 250dq qt n/huu 40 147 5880

3369 226 Snutlunnt 50dq/dt 2dr q3 uldul 200 158 31 600

3369 226 Snurlunnr 50rlo ql n/hum 1 000 42,39 42390

3366 t3l $bOnpunphmul 100dq ql n/hum 300 16,042 4812,6

3366 136 lfiuqbqud 5fq q1 n/hum 500 9.1 67 4583,5

3366 t36 thruobuttutl 10tlo qt n/hum 200 11,25 2250

3366 136 rlhuqhuluirl 
1 0dq/2dt 2dr ql r.udul 100 101 10100

a.:.,1^ :.. lr:'i. * : r-i :(ll ."1 ;. 1 ltffi ,ffi,"j-'\ Y";i

33621740 Urllnafrqfrh Sdq ql n/hun 2400 6,6 15840

33621740 Urilnalrqlrh lOdq ql n/huLn 3600 32,55 117180

3362L760 Lhurlurqplrl 1Oilq ql n/hum 1000 8,5 8500

3362t761 hhurlurqplrl 20dq q3 dhum 3600 41,12 148032

33611190 Ub0nqf40bp ql dhum 1000 12,4 12400

3362rL10 .Lurp$nrplr0 0tum p[ Silq ql dhutn 2000 33,5 67000

3362tt10 .tun$unh0 0umnh 2,5dq qi flhum t500 8,47 12705

33621620 Uu1[pnfin1ut4un0 50ilq q1 dhum 900 64 57600

3362r4t0 Uhdrhuumumh0 10tlq qt 4/hum 1200 33,33 39996

33621410 Ufrdr{ruumtum[[ 20dq ql r/hutn 4500 129,666 583497

33621,4rO Ufrilr{ruumum[0 40dq ql dhuu 1200 205,666 246799,2

33621380 thqopuh0 0,25ilq qt r/hum 600 5,46 3276

33631310 thUrn$b0ruU 50dq q1 q/hum 450 14,64 65BB

33631310 r}lrtlln$h0nr! nhmup4 1 00dq ql r1/hum 600 30,5 18300

336313 10 rlhULn$b[tuU 25dq/d1 3il1 ql uril14 100 78,4 7840

33631300 trbmnqnn$b0 50dq/dL 2dL g1 udt4 100 227 22700



33631300 trhurnu.rnn$hh l00dq. qt 4ihum 400 69 27600

33631300 trhunqnn$hh nn0nnn 2,5% 50q q1 hum 10 1798 1 7980

3362L690 lurnrlhnhrnr 25dq qi 4/hum 900 36 32400

33621690 Qurnrlh4hrnr 12,Sdq q3 flhum 3600 28,87 1 03932

33621690 Qurnrlhnhrnr 6.25dq ql r/hum 1200 23,8 28560

33621510 9uqmnqnhL 25dq qt r/hum 600 4,5 2700

336215rO QurrlrnnqnhL 50dq cll ry'hum 600 12,917 7750,2

33691203 Lnqunmu0 50rlg qt flhutn 1400 59,286 83000.4

33691203 Lnqununu0 100dq cll ry'hum 1400 83,929 1 17500,6

33621390 Udhununn0 200dq q1 ilhum 900 64,5 58050

3366L12L Ug bm I lutu th ghttu-ppn t 1 00dq ql n/hum 10000 18,1 181000

33621720 tr|rumqpnlnl 2,5dq ql dhum 21 00 9,9 20790

33621720 Flrumrlpnlnl sUq q1 4/hum 4500 8,9 40050

33621720 Firunqpnlnl 1Odq q1 ilhum 900 26,75 24075

3362L370 f'qnunppIr.n[ 4]r0[mpum-20 q1 dhum 4500 34,8 1 56600

33642230 LhnBhnopuhh hururnhnr-il 1 00dhq q1 ry'hum 1500 16,46 24690

3361L100 Odbqpuqnl 20dq ql ilhtrLn 1500 11 16500

33661 156 Ehilnrnr Stir qi ??hl) BO 414 33120
33671 1 13 Jurrnnrurunlnr qnnurohn 1Odt qi hurur t5 1 000 1 5000

33651253 Srurlopuh$b0 20dq qi flhum 450 69,8 31410

3369L209 Sudunrlnqfi0 4ilq qi ry'hum 900 196,33 176697

33621590 bnLpnubdlt4 40dq ql dhum 900 3,11 2799

33621700 Uhurnqpnlnt 50dq cll rVhum 900 12,5 11250

33651-L72
Uriopulrgb1Jrh, \urflrnr-rf]r plurlmlurhunn
625 ilq

ql 4/hum 100
117 11700

33651116 3h$urqnrhh 1,0cn q? 22h11 20 170 3400

33651118 3h$urnhurpunh l,Oqn ql 22b\ 20 160 3200

33651 131 Untl$turihpopuuqnt+upbilhpnqpfni 800/1 60 ql flhum 100 259 25900

33631100 Ufl1n0uqn1 Oppupunrp 1 5q, 2Oilq/q cll hum 10 336,8 3368

3365L150 $ynLl1n0uqn1 150dq ql 4brluqu
rnh6 20 109 2180

33631200 Plnpud$b0ftL1n1, dbp[lntnughI punLp ql htutn 6 315 1890

33631330 t{btnr luEd.pubnnTnnD punrp ql htum 5 415 2075

33631250
rpuunl 9o%, [nLonLJP tunmupnu

Uhnunilu0
cll rhmn 15

1 050 1 5750

33661 1 16 t[4n!u1lr0 h[4pnp1np[4 20tiq/d1, 2il1 ql urltu 100 43.2 4320

33621290
hqfhu$pfh (hqlut$pf ult
hfr4pnururpurpuru) 0, 1 B%

qi unLl
10

138,5 1385

33621730
.thpurqunifri (rltpuquilf$ hfrlpnpfnphq)
40do

q1 4/hum 300 18,49 5547

3362L730
.thpurqurtifrl (rlhpurqurilf$ hlApnpfnplq)
B0tIq

ql ry'hum 600 25,9 1 5540

33621140 Qlnqfi4nqpb1 75dq q? dhum 450 87,5 39375

33651125 hBnntihqhtr 500ilq ql ilhtum 60 326,667 19600.02

33621700 Uhrnnrlnnrnr 25rtq cll n/huLn 600 18,2 1 0920

33631"290 hnmunn$htr 400ilq qt n/huLn 300 17,8 5340

33611"440 .{.hrnrurihh tr hrutirur hn ql urr{ 50 163,35 8167,5

33621210
hn\*foh
unrlllunn 1 1 2,6+Snthurppnt5t[q,+Q,Q ] 1n
rlhrn B12

q3 q/hum
120

85,6 10272

33642210 'rlnbn0hq nr n0 Sdq qt r/hum 300 7,9 2370

33621540
Auqun{hp}rtr 1nr-bnt3p trhpurpllilurh
2Orlo/rir 2r[r urdruntt

ql LuUu{
10

41,3 413

33621440
Fb04ruqn1 1nr-bm3p il/r.t 1 Orlq/ti1, 1 tiy
unlur mr hhn hhnurntr rlurh

gl LuUu.l 20
41,8 836

33691236

plnpnqfrpunlirh ( plnpnul[puilf lt]t
hfr4pnplnpfr4) 1nr-bnt3p trhpurplliurb
2Otiq/dr. 1 rft urtlrumthhn

q1 udul
5

384,8 1924



33631210 Fbrnurrlbrnuqn0 punrp 1sqp 1dq/q ql hum 10 1 000 1 0000

3367 ttt6 Pu[lndbmuqnl[0 1 dq/d1 1 0t]1 ql 22nu 20 417,6 8352

3365r134 Sfru{pn$1opur.uglt0 tut{0-t{ 3dq/d1 1 0d1 qt hum 20 640 12800

336srt29 QlupIppndIsh0 250dq ql n/hum 450 147 661 50

.'..'';"j1t.:j. ;" 1 ffil"{/t CjfC/F /; 'I
F,* i

33621740 Uilrnnhruhtr 5dq q3 ry'hum 4200 6,6 27720

336217LO Umb0nrnr 50dq qt 4/huu 300 4,05 1215

33611190 Ub0nqhn0bn ql 4/htum 300 12,4 3720

33621,170 .hup$rup[0 Ouupfr 5dq ql n/hutn 1000 33,5 33500

3362L620 Uq[pn0n1ul1mn0 25dq q1 n/hum 4000 35 140000

33621380 rlhqopuh0 0,25dq g1 n/hum 300 5,46 1638

33631310 r}[111n$b0tu! Ouunpfintd 't% 30qn q1 dhum 20 147 2940

33631310 rlhULn$b0u! 25dq/d1 3 q1 ruilr.rl 40 78,4 31 36

33631310 rlfr!1n$b0uu! 2sdq/dp 3 lUU uUul 30 78,4 2352

33691 231
Qurgfrntdlr \urppnhurur, r$rtnturifrh D3
500/200

ql flhum 1000 39 39000

33691231

QulgJrnLrS[ l4ruppnOruun {[mudft0 r] 3
500dq./llnlbqutgh$bnnt
200UU,duq0bqfinrd 40ilq,q11[06 1dq,
glr0l1 7,5dq, dupqu0bg 1,Bdq,pnn250dq/

cll flhum

240

59,12 141BB,B

33631300 Qhrnnr{pn$hh 100ilq ql ry'hum 600 69 41400

33631300 Qhurnutnn$hh 4n04n4 2,5o/o 50q ql hum 10 1 798 1 7980

33621690 lurnrlhnhrnr 25dq q1 4/hum 300 36 1 0800

33621690 trurnrlbnhrnr 12,5dq clt flhum 1800 28,87 51 966

33621690 Lrurnrlh+htnt 6,25dq ql 4/huLn 600 23,8 14280

3362L69r trurnrlhnhrnr 6,25dq tuu 4/huu 300 23,8 7140

33621390 Ud[ru4tupn0 200dq ql r4/hum 900 64,5 58050

33621420 Uurnnrluuururtnhh l Odq cll ilhtum 900 32 2BBOO

3362L420 Uurnnrl ururnurr.nhh 2 Orlq cll n/huu 3000 24 72000

3362L420 Uurnndururmuurhh 40tlq qt dhum 600 68,4 41040

33661t21 Ug bm[1uru1]t g lt 1tu-ppn t 1 00dq ql dhr.um 10000 18,1 1 B1 000

33621720 Ffrunr,rlpnlnl 2,5[q q1 ilhuu 1800 9,9 17820

3362L720 Fhununnrnr 5dq cll ry'huLn 3600 8,9 32040

33621720 Phunutnnlnr 1Oilq ql flhun 900 26,75 24075

3362t370 f'qnunppImh nh0hmnum-20 q1 4/hum 3000 34,8 104400

33642230 Ltrnpfrpopulrtr huruplrnul 1 00tl!q ql dhutn 200 14,81 2962

33642230 LhnBhnopuhh tnuunhnr-d't OOdllq lUU r/hum 600 16,46 9876

33661 1 53 lbputudbmuqn0 4dq/il1 q1 und 50 89,1 4455

33611160 Uhrnnht nulnrurihn 1 Otiq ql 4/hum 200 0 0

33611160 Uhrnnhrnrunurtlhn 5riq lA Alt g1 unrl 10 53,84 538,4

33611100 Odbqpuqnl 20dq ql n/htum 1500 11 1 6500

33661 156 Ohrlnrnr Sdr q1 ??il) 30 414 12420

33621600 hhnurqurilhn 2,Silq q? 4/hum 300 10,5 31 50

33621600 hh4ul4urdlr41 ,SUq qi 4/hum 1200 49,73 59676

33671 1 1 3 Uurrnmrnun[nr qnnruqhn 1Otlt q1 huru 10 1000 10000

33621s90 $nLpnubdJr4 40dq ql 4/hum 600 3,11 1866

3362L590 SnrpnubdJr4 10ilq/d1,2t11 ql unu 30 24 720

33621700 Uhurnurnnlnr 50ilq cIl ry'huun 450 12,5 5625

33651112
Uilopufrgb$tr, \urfrnr-tf]r plun{ntlurhurtn
625 r.Iq

ql flhum 50 117 5850

33651 1 31 UmlQurfhpopuuqnl+urpfrtlhpnulplril 800/1 60 ql 4/huLn 100 259 25900

33651 148 q1nmp[uuqnl 1sqn 1% ql hum 5 210,4 1052

33631100 Ufrln0ruqn1 l5qyt 2o/o q1 hum 3 336,8 1010,4

336511s0 bgnLlln0uqnl 150dq q1 4br1uu1nr
mhd 20 109 2180



33691 1 36
truunnnlDn plnnn4 euq/ul, 5ul
rudqnrlu0bp

cll unLl
10

31,4 314

33691 145
JuqUbqf nrDfi unr[]um zbuuq/u[, bul
rudqnLlu0bp

ql unq
10

31,4 314

33631250
tpu0n1 96'/0, [nLOnLJP unuLupnt]
t.;f pundu0

cll rhmn 20
914,37 18287,4

33631250
fpu[n1 9670, tnLdnLJP LunLnuPnU

t.;Ipundu0 lUU thLnn 10
1050 1 0500

33671 130 Ih$b[hhrynuU[t[ 1Dq/01 1"/o ql unu 10 23,52 235.2

33621290
hqf u ulpftti ( Frqf u ulPftttP
hfr4pnrnurpurpruur) 0, 1 B%

q1 un4
10

138,5 1385

33621730
{hpruululifrl ( {hpruuluril}rfr hirapnptnpbl})
4OrIo

qt {hum 300 18,49 5547

33621730
{hpurquni}r1 (rlhpuruiurtlfrfr h}rapnptnpbq)
30rlo

ql 4/hum 360 25,9 9324

33621"t44 Qlnqf4nqpbl 75dq ql flhtutn 600 87,5 52500

33621700 Uhurnulnntnt 25rlq ql flhuLn 900 18,2 1 6380

33631290 hrntulnn$hh 400ilq cIl ry'hum 300 17,B 5340

33621210
hp\*rot'
untl$rurn 1 1 2, O+Sn1hurppnt5ilq, +0,0 1 ilq
rlhtn 812

ql flhum
180

85,6 1 5408

3362r.580 lhnnnpLnnhp[uqfi4 25dq ql dhutn 300 11,84 3552

336422tO qnbnfihqnrn[ Silc q1 n/hum 300 7,9 2370

33661-L22 'lunuqbuLudnr 500dq q1 4/hum 500 5,6 2800

33651254 LbmnnqnL 2,5 ql r/hum 210 629.867 132272,07

Phtlhuthu0 Qntpbp 0

24451140 Jfumuhu.r0hr 0rnLp 0,5r q1 hum 3800 3800
24451140 Jfuuruhru0hl 0rnLp 1

ql hum B 3700 29600
24451140 llfumLuhru0hl IrnLB 1

ql hum 10 2340 23400
24451140 Ufuutuhtu0ftl 0;nLp 11 ql hum 10 3700 37000
24451140 UlutnLuhru0ht 01nLp 1000q. q3 hum 10 2100 21000
24451140 UfuLnuhuOhr 0rnLp 750dr ql hum 20 2450 49000
33141 160 Un6ncnru$hU qbt ql rLn n 15 900 13500

24931500 Fd. flhhuq.durq.hpl-rur\. Llntp ql rhmn 150 400 60000

24931500 Fd. Ohtrurq.duq. $ lt l.lutud ql rhmn 75 400 30000

33210000 lbdnqlnp[0 AIC q1 pbuLn 40 1800 72000

3321,t1,20 S-Col qgnr!nq q1 pbum 3000 13,8 41400

332rLt20 S-Col qgnLQnq ruu pbuu 1000 16,2 1 6200

3321L310 Opndpnqluuu qi pbum 360 3B.BBB9 14000,0

33210000 f'dbpufin0 lnrr1 q3 d1 200 12 2400

3321_1r.30 Pnlbumbpfr0fr npn2du0 hturluupudnL q1 pbuu 2900 20,4 591 60

33211130 Pnlbuunbpnl HDL q1 rI1 100 64 6400

33211130 Pnlbumbpnl LDL q1 d1 100 400 40000

3321 1 1 50 Uhqur0tnLph nnnrrJru0 htutl LupudnL cll Bhum 400 25 1 0000
33211160 IREA-Co| llpbumf 0ltG ql pbum 400 14 5600
33211140 :f 1[nnrplr0 ql Pbutn 300 37 11100

33210000 ILS ql ebum 360 25 9000
3321 0000 IUS clt Bbum 360 23,75 8550

33210000 IUL-O qt pbum 200 74,4 14BBO

3321 1 180 SnhqLhsbnhrl ql Bbum 300 57,5 17250

3321r2s0 l-nhrutruhrl uuhtnruhnrq qi Bbum 600 64,8 38880

3321 1 1 90 3nthLtn0 rulluh A q1 BbuLn 400 4.5 1800

33211200 3nthUtn0 rutrnh B qi phuLn 400 4,5 1800

33211220 SnthUtn0 rutrr"nh D Unrqhn q1 Bbuu 400 8,5 3400

33211210 SnthUtn0 utruh C Unr-qtn q1 Pbum 100 18 1800

33211320 RapidSignal HbsAg WB 3bqumfu P q1 Phum 150 280 42000

33211230 Uh$hrhuh mbutn RPR q1 Pbum 1 300 36.5 47450

33211240 flhr-funnnhn $urhun cll Pbum 300 58,B 17640

3321.rL10 Uhnhutrnhh 2 ql pbum 300 26 7800

33210000 tu1tudlr4[nr IGG ql pbuLn 960 214,583 206000

33210000 tugurdfr4frnr AG ql pbuLn 40 850 34000



33210000 ltphupq[0fr 0/Urea-arginine Lyo/ ql Lnnrqh 1 71 500 71500
33210000 }n0u0n{ut1fr -qhUqu qi d1 2000 4,15 8300
33210000 Jqnqfrpuil qt unLq'l 3 0
33210000 [4 uqum q1 pbum 192 265 50880
33210000 blru TSH ql Bbuu 576 235 135360
33210000 PSA ql pbuul 192 295 56640
33210000 +qs q3 pbum 240 49,1667 11800
33210000 lhqu:urfln 3 ql pbum 150 290 43500
33210000 Ufumnpn2[1 01nLp COMBUR UR ql LnnLqh 1 22000 22000
33210000 UfuLnnpn2f2 0lnLp COMBUR UR t4n0mpn1 qt mnLql 1 21030 21030
33691163 f04n uqup qi cln. 500 33 16500
33691,1,42 lUbPflb0 lruqnqLn qt qn. 50 80 4000

I 
umunntnnrpJnrun umnLqnq nrr4nqulmnn uptnnpn2fl

33210000 l01ntp 180 r.uurnf6u[ 60 pnqb cll hum 500 7,9 3950

33210000
JuroFFtFn rpjnru[ uunLC]nrl nu4nqLuunn Luruunnnznt
ilnrp '132 r.uum[6tu[ 20 pnqb ql hum 250 7,4 1850

33650000 ltuQrupf ntnfl4 4fru! trugnru-oglnBuugfrO q3 $1u!n0 1 1422 1422
33650000 iur!rup[nm[! 4[u14 gbguqnrhO -lb$qnL c+l $1u!n0 1 1422 't422
33650000 iruL;tupf nuf ! 4hu|.1 ShqnnS;npurugfr0 qi $1u!n0 1 1422 1422
33650000 Stulrup[nmfl1 4fruq uqhppndfrgh0 cll $1uL1n0 1 1422 1422
336s0000 3u!urpf nmf ! 4lru! ur0npuugfrlfrG ql $ttul.ln0 1 1422 1422
33650000 ttutlLup[nmfl1 4f u14 u.rnrqdb0r.n]r0 ql $turt,1n0 1 1422 1422
336s0000 lurltupf nuf ! 4fruq qh0rugbg-gbgnrnn!ufrr) g1 $1u11n0 1 1422 1422
33650000 I u l-1 ru p I n un I Q nh u q r]n tl u h g h 

q th 0-rllr p n ur d h g 
l.r 0 qi $tuUn0 1 1422 1422

33650000 3Lultupf nuf tl 4fru! g1nrL1n0tuqn1 q1 $tulln0 1 1422 1422
33650000 tpf pp n g IurLu1 fr0 quIq{ud q1 mnutnurL.l 1 18000 18000
3363L140 Jtu[rg[rltuppnL ql qnurU 1 000 4,5 4500
33691729 rtulfrnrdfr hfr4popu[4 cli qnud 500 2 1000

33210000
Upluh ilh2 qlnr-\nqlr rftu\urp4u\fr npn2rluh
U\\nr-?hp'tlhp$npilu phutn-hpfrqLhp UU hum 1 000 108 1 08000

Fnd uuppu(npnulhbp,
qn n hhp 0 bn, utufi tue u 0 bn

33141144 Jubn 0bnunUdu0 hrurlu n G-21 lUU hum 5000 5.8 29000
33141144 .luhn 0bnurnUdru0 hurdurn G-23 ?UU hum 300 5.8 1740

33 141 142 Lhnrunhhl ruuhnnrl 5rlr cll hum 100 11 1 100
33 141 142 Lhnrunbht ruuhnnd 2rJr ql hutn 200 11 2200
33 141 142 0bnunUhl 1.Orjl h0unLrh0urrhO ql hum 100 15.4 1540
33 141 142 Lhnurnbhl uruhnnrl 10rlr ql hum 50 17.5 875
33141L77 Fnrdptu! 50qn q1 huur 300 69 20700
33141111 Uqhnuhh 2.Surf*Sil ql hum 20 120 2400
33141111 Uurbrtuhh N10 ql unr-rh 200 28.9 5780
33161220 Crqu.rtnhl rhrutnh q1 hum 1 000 4.5 4500

33141156
Qhntrngtrhp pd2\urllurh qhriruh lunnhpulrg
nr uurhnhr ruuhun M

q1 hum 3000 12,9 38700

33141129 rlhtluU hnurrhnur clt hum 300 9,58 2874
31651200 hUQ dturunrdb0 50.30 ql hunn 20 0
31 651 200 hUQ dturutudb0 60.30 qt hunn 50 390 1 9500
31 651 200 hUQ dtuuurdb0 50.50 ql hruur 10 410 4100
33141,143 Ul,;unh$hL;rumnn rulrlun ql hurtn 3000 3,45 10350

33140000
!upng[l4 pdZtluUtu0 01 -200
prudu0nrd0bnnd

ql hurtn
1 000 2,4 2400

32351230
Ob0mqb0 duquL[b0 18.24
N100/bnU0uqnLt0/

qt urmrlr
3

12900 38700

32351230
Ob0mqb0 duqur{b0 13.18
N 1 00/bnU0unqnu0/ ruu umL+ 1 6800 6800

33111140 ggnmpn dunuuLlhh l 10.30.5 ql urnrrh 20 69000 1380000
33111140 Sgntnpn durururlhh l 1 0.30.5 tuu tnnr-rh 5 65000 325000
33140000 Tnhfimbnh pnrnp 1904/303 ql hurur 5 1440 7200

33140000
flfOlrt{bputul pnL[p PH-lr npn2du0 hudup
N100

ql hurur
100 12 1200

33140000 UnurnLurturLurh unu urhh clt huln 2000 7 14000



33140000 Ourblrurruurhh 24.24 ql hurur 1 000 2.9 2900
33140000 Ourbhunuurhh 18.18 gl hurur 2000 3 6000
33140000 Orubhurqurth 24.50 ql hrurn 100 6.5 650
33140000 thruhrn ROE ql hrutn 50 120 6000
33140000 Thruhu Uurrrh q3 huru 50 124 6200

33140000
Onpdu0np urnum $upu Q;nL{. hrudtup cll hunn 200 54 10800

33140000 Jnru0 u0urhqh unduU obtnd Silt cl? hunn 500 57 28500
33140000 OnnduOnp EDTA 2rlt q1 hurtn 1000 44 44000
33140000 Onndu0ne tub0nnn$ 1.Sdr q1 hrurn 1000 4 4000

33140000
'rlluumduub lrupuptumnp qupuqu0bp
60rJr

q1 hurn
100

'38 3800

33140000
rfrnpd,urhnp 6nqfr\n{ punr-\ rlhpghhlnr-
hunftun r.furhnhurqhnb

cli hrurn 200 40 8000

33140000
rlrurlulur 6"qhq prurfpu\ntl punlp
tlhnqhhrnr hurtlurn tlurhnkurqhnb

q1 hunn
100

12 1200

33140000 rhnndurhnp qhhunh$ntcur hhrnd ql hurtn 50 78 3900

33140000
elLh\nlnqfrurlurh An+tt punr-p {hpgtrhln
hunlurn ru r urutnrluruh

gt hunn
300

42 1 2600

33140000
$nfiilurtrfr q4ull_bU tffurh{urq
oqrnurqnnbilurh

ql hunn
500

27 13500

33140000 T lhuhtn uruur.nbnh uuhmuU 3dt q1 hunn 50 17 850
33141114 l'dru0ohb ndrUuliru0 q1 dhtnn 200 7B 1 5600

33140000
Ugnrd[0b dnq+{lrut4nqu fi npdu0npn{
du0ntuobnd 13.165dd

q3 hunn
300

175 52500

33141L56
e bnOngObp pd2lurt4ur0 q0ilu0 LuLnbpuhg
nl umbnhlLufiun M

uu hunn
1 500 26 39000

33141144 Uubn qnhl UU hunn 1000 20 20000

30000000
4pb0uQtu0 qfi nn tnqp0bp lt
anutubOtuiltunh0 0nrcbn

30197232 OnBuuruItutr UU hurn 17 100 1700

30197232 Unruqtullurn un4nnuUut 0 UU hurn 20 100 2000

30197234 Jpuqu!up dbd uu hum 20 1 000 20000

30197631 Onrnp U4 $nnrlurnh 121.29.71 UU Uq 160 1 500 240000

39263200 Qpruub0lut4ru;h0 qhnp UU hum 15 1 000 1 5000

UiluunuAp0bn

22000000
Sq*qhp t4ntphp h htupuQlg
utnututnnwtp

22000000
Qb0unrpfrd. hbmuq.6lru!, fu nlbumbnh0n{ uu hum 1 000 5 5000

22000000
trb0uupIrI. hhrnurq.31rut4, fu nlbuubnh0n{ UU hum 2500 3 7500

22000000
Ub0urupfrd. hbmuq.3ltu!, d[qu01ntpn{ UU huur 2000 3 6000

22000000 !bluurphd. hbuuq nmnrBtnrO thnpn UU hum 500 3 1 500

22000000
Qb0unrpfril. hbrnruqnmnlplntO ULun4h
unnnul0bnnrl -

UU hum 800 5 4000

22000000
!b0utupfrrJ. hbmuqnmnrplnr0
udnnngnrpttutJF

UU hum 2000 10 20000

22000000
bpIQrurI0bpI lab0urup[tr].
hbmuqnunLptnL0

UU hum 500 5 2500

22000000
Cruptupru;lt0 4ltrupbmI hbmuqnmntp1nL0 uu hum 500 3 1 500

22000000
C ruqru0u !tuqb n6 h h.1 nrpft
hhlnuq nLnnrBlnl0

UU hutn 50 5 250

22000000 fl rnbnur uqUru rh hbuurqnmnlprnl0 UU hum 500 5 2500
22000000 .ttuhru0rudL qbndh hbmuq nmnLptnt0 UU htutn 200 5 1 000
22000000 PunLUh hhmuqnurnrptnL0 UU hum 5000 5 25000
22000000 tururdhnhnq h0$bUqhur uu htum 200 5 1 000
22000000 Uh$hthuh hbr.nuqnmntBtnt0 UU htum 500 3 1 500
22000000 U0Ubnh hbmuqnrnntptntI UU hum 1 000 3 3000
22000000 Uboh hbmuonmnlBrnl0 rhnpn uu hum 500 3 1 500
22000000 Uubnduqhn UU hum 50 5 250



22000000 rlbrJnnbUnqh hbuuqnmnlptnr0 UU hum 50 3 150

22000000 U p1 tu 0 hb m ruqn m n rp1 n r.0 dtu 1Lu p lt tu1 ft t{b p ut p b p1 ut 1 UU htum 50 3 150

22000000 lbqrurnfrrn B, ibqLumftn C-Jt hbmLuqnmnLplnt0 UU huur 300 3 900

22000000 Untru0 ut0tuthq finpn UU hum 3000 3 9000
22000000 Unru0 uOurhq UU hum 2000 5 10000

22000000 Uboh r.u[urhq UU hum 4000 5 20000
22000000 lbfuurr"nudurndh Bunm UU hum 90 30 2700
22000000 .lhdurLuontuLu0 trtnnn0 dt 025 UU hum 1 0000 2 20000
22000000 Lldnnuumnn hhdu0nh punm UU huur 420 250 105000
22000000 Lldnnlrurmnn purnmh dhontlt UU hum 2000 10 20000

22000000

Udpnr,luunp purpm/Unnr19ul4tu0 tthdtuUh
qu prnu 4frp Otu fu0ut l4ut 0 (tuZluum u Oph

p 0 4n r 0 rlb 1fr u ) L q tu p p b p ut lltu 0 pd2 14 tu 14 tu 0

o 00nLBrnr0/

UU hum 300 10 3000

22000000
U0hruhurnut1u0 ptupm hnnh l, 6004!tuOJt UU hun 140 70 9800

22000000 Qnu0qdu0 61, OO2 UU hum 11000 10 1 10000

22000000

rlbrlr,ur"n nrJ u qtu mdb0tu htu 0 {nt1
bnb0onh0ubnd

UU huun 6000 20 120000

22000000 rlbnumndu hnobdbm UU hum 500 5 2500
22000000 rlbnulnnrlu undnnuLu0 UU hum 12000 5 60000
22000000 tlfnnbohn /r unnnurnnnhu rh/ rlbd UU hum 2000 10 20000
22000000 UumruO nbnrumu0 nhnnnutph 200p. UU htutn 4

I 2000 2000
22000000 UurnruO nbnurr"nuO nbnnnrutBh 1 70B. UU hurur 2 1 700 3400
22000000 Qhnp ndrLubur0 508. UU htum 8 600 4800
22000000 Qhnp ndrLuLut0 1008. UU hurn 15 1200 1 8000
22000000 Qhnp ndzUubu0 200p. UU hum 3 2000 6000
22000000 UumruO 200p.hurh UU hum z 4000 8000
22000000 'nuhru0quqhnB 100p UU hutn 2 3000 6000
22000000 'rlurhru0quJqhnp 50p UU hum 2 1 500 3000
22000000 rlbnnnurph hurrrlundu0 qhnB 100B UU hum 4 1200 1200

S0nbuuQu0, uu0hhqfib0hQ I' t4tusph
llhono0bn

39812600 Ufumuhu0nn rhnzh UU hum 40 450 18000

39831 245 O6un hbnnLU 5rhmn UU hum 10 1 000 10000
31531210 br.rurrltu 60.15 UU hutn 140 100 14000

31531210 br.trurlu 100.tS UU hum BO 100 8000
44411100 6nnuLr rduounu0h uu htum 2 7500 1 5000
421 30000 nnh thruLu0 1/2 UU hur"n 2 2200 4400
19640000 Sbrn$u0 UU dbmn 5 200 1000

44322200 hr.hunnnnutwn 2*2.5 UU rlbmn 35 220 7700
31000000 br.hnuur0ph nurdu0hl UU hum 5 600 3000
44322200 br.runh dbtu O 3dd UU mnrqh 2 400 800
44531250 fr.hunnnnurunh un06b 6tutnunhn UU hutn 2 400 800
441 60000 OnnuUh fuunOhr 60utl UU hum 2 1200 2400
44211610 U/'rl u0trrnL0 A25.314M 1125 UU hum 1 2100 2100
39221430 UruurUbrlurpnh; uunr0q 6nn nd UU hum 2 5700 11400
24951120 $nrd UU hum 1 400 400
44820000 Lup 0.75r UU huu 1 2200 2200
44831 500 LnLdhr 0.5r UU hum 1 500 500
37821100 Lbnbh dndhO O50tltl UU hum 1 400 400
44531120 OnruL nrnrnbt nd O 1 Otltl UU hum 2 400 800
39541 1 70 6nuu0 O2drl UU dbmn 12 60 720
39541 1 70 6nruu0h 6qhr ftBrIil UU hum 2 500 1000

39541170 6nruu0h fuudntm O3dd UU hum 2 50 100

44423600 UbUnruhr burnr0 dutututlb0 UU hum 2 200 400

4451,1340 Qrurrhhn0 O6rJrl UU hum 1 400 400

44531170 Tlmnrmurl.l (D4.35dtl UU hum 50 5 250

4453Lr70 rUnrnbr O6tltl UU hum 50 5 250

4451L170 Onglu UU htum 1 800 800

44sttL70 Ongfu pulg{nrl UU huur 1 1400 1400

44163200 U/'rl u0qnrd UU hum 7 2000 14000

44192400 Qhruuturh0 runufu uu Uq 5 100 500



31684400 tr .rlurnnub 2mbn.tunmuph0 UU hum 25 800 20000
41 n t 4utn A n b uu |ut 0 l' ry qbqnpdut Q tu 0
utnnu.tnnutfro

3111000 l'unrnh ubnd UU Uq 3 6000 1 8000
3111000 Uhrurlru nnrru UU hum 30 300 9000
22213000 Utluugnbn UU hum 60 51 000

4unblltp
9132200 Fb[qh0 nbonlrrun UU rhmn 180 420 75600
9132200 Fb0qh[ nbqnruurn UU rhmn 410 430 1 76300
9132200 Pb0oh[ nbonu run UU rhmn 610 430 262300

45311128
h u [u Q ut p 47 utllt 0 du 1 n lu 0 b p fi
utfroltutonul

UU 4nud 1 140000 140000

32421100 qu0gttth0 tfutnilu0bn UU dbun 720 220 1 58400
32420000 ou0outth0 uutnpbn UU hum 58000 58000
301 21 500 punnnhp0bn UU hum 1 38000 38000

50311240

qlunfib 0tuhu 0 n 4 uupp bpfi
(bp u 0 np n 7dut 0, quhqu 0 [ut 0
trunutrnrptnrfr0hn

uu 4nuld 1 1 34600 134600

Outnulntplnfi0bp

90921 1 00
ufumur hurI uur L u Dur l..lLup nrJdtrb n n ntutrug Dru Lr

dunu;nLp';nL00bp UU 4nud 1 4nud

90521300
Fd2!nr{1ur0 ptuqhn00b p ft n1[2utgdLu0

duntulnrp;nL00bp UU 4nLUU 1 4nud

65300000
lgbluprulu0nLp1tu0 ptu2fuduO t 4pLu hbm l-1uq{ud
6unurnrBrnl0[bn

UU 4nud 1 nnurU

651 00000
9pfr ptu2fuOLu[ L 4pLu hbm l;uq{ud
lrrrr nrrr r n rsrn rll l-rh n

UU 4nuu 1 4nud

6421 3000
.ruqdu!bpqnr-p1tu0 p04hu0nLp hhnufunuul[0
rrrr6oh 6runrrrrnrsrnr6[bn UU 4nur0 I 4nuld

72400000
lu d ru g u 0 g ur1 | 0 dru nu; n r p1 n r 0 0 b p/[ 0 Ln h p 0b m u1 ft 0

rrrrrrr/
UU 4nurd 1 4nurU

90470000 -rnJnrqnr 0rupp dtu0 dunlul nrplnL06bp UU nnuu 1 nnuu

9051 1 200 .rb 0gru quu; frfi u qp I h Lu tltup f tu I dtu nu; n Lpl n L0 0b p UU 4nruU 1 4nud

98392000
SbqLuqhnfudu0
6Lu nui r n [er n L0 0b n/ob n0tuth nfu u nn n td/ UU 4nLuil 1 4nurU

5031 1 000
I u L1 lr 2 4p ru 0ru p q'1ut h I d bp b I ut 0 b p lt Ln b fu 0 | ! tu ! Lu 0

rrrrrrrrrrrrrnlrnr rI
UU 4nud 4

4nurd

66 1 1 2000 rlbqnqfrmul 
fr 0 du.rnul n Lp1 n L0 0b p /nb b u m p [ {up n Ld/ UU 4nuil 1 4nurU

71 353200
?ulrf uqpuLlru0 hbunuqnunLplnL00bplt
trrrnrrrnr ornr fifihn UU 4nLUU 1 4nud

50400000
Pd2lruL1ru0 L 62qpfm uLuppbp[t tlbpu[npnqfu0 L

ulruhLuu0rltu0 dunu I nrptnrI UU 4nruU 4nuu

98390000 Llj1 dunulnrBlnL00bp UU 4nrud 4nr!d
,,,, rl i:..- . i iiifiililitiii r i i i:r:l::.]r::l


